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If the DNA strand has nitrogenous base 
sequenceATTGCC, then m-RNA will be 

(a) ATTGCA 

(b) UGGACC 
(c) UAACGG 

(d) ATCGCC 

(ii) sf f FU 
(34) TcfryA yHR 

() yrT 
The alternate form of a gene is -

2 

(a) Alternate type 
(b) Recessive character 

(c) Dominant character 

(d) Allele 

(a) sfagaf 
(T) a0yis HH 
() Y 3GIC1 
() 3T.Ar VHHU 



The process of modification of pre-mRNA 
is known as 

(a) 

(b) DNA Repair 
Replication 

(c) Protein translation 

(d} RNA processing 

(34) St.4s, HHHd 

3 

(a) tA.s uÍTghfi 
(H) INI fagA 
() R.TA; HAH 

(a) 
Gene mutation occurs at the time of -

(c) 

DNA Repair 
b) DNA Replication 

Cell division 
(d) RNA Transcription 

(34) lacA-lac Z - lacY 

(a) lac Z- lac Y - lac A 
(T) lac Z-lac A -lac Y 

) lacA -lac Y -lac Z 
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2. 

3. 

The sequence of the structural gene in the 

Lac- Operon model is -

(a) 

4 

lacA-lac Z-lacY 

(b) lac Z- lac Y - lac A 

(c) lacZ- lac A-lac Y 

(d) lacA-lac Y- lac Z 

Section-B 

(Short Answer Type Questions) 

C-value paradox I BIaI? 

What is C-value paradox? 

Explain Cot-Curve. 

Explain split gene. 

379dT/ OR 

Describe in short about overlapping genes. 
31T/ OR 

5x2=10 



4. 

6. 

7. 

Explain the process of polyadenylation. 
3TT/OR 

Explain RNA-polymerase and its functions. 

What are TATA-Box in DNA? 

34T/OR 

Explain pribnow box with example. 

What is gene mutation? 

342T/OR 

Write a short note on Mutagen. 

gug-H 

Section-C 

(Long Answer Type Questions) 

Describe DNA replication in detail. 
3T1cT/ OR 
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8. 

9. 

6 

Write a detailed note on restriction mapping. 

Describe genetic recombination in bacteria. 

3TcT/OR 

What is transposon? Describe its role in 

evolution. 

Describe RNA and its different types. 
GT/OR 

Describe translation in prokaryotes. 

Describe gene regulation in prokaryotes. 
37cT/ OR 

Describe Lac-Operon Model. 
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11. 

fzuyuft fetfas | 
Write a detailed note on human diseases caused by mutation. 

7 

repair. 

31cT/ OR 

Describe in detail about DNA damage and 
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